WED = THU M SAT A

3l = 3l = If fix) = x + 13x, In the figure, all the corners are right- In the figure, M is the mid-point of BC AAA
% *’ \*-I~ ( ﬁﬁ’ \*-I~ ) then ix—-7)=x"—px—42. p=7? angled. If the perimeter of the figure is and AD = 2DB. AM and CD intersect AA
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) n n On a circular track, 4 and C are running 4 2 The product of the last digits of ABC is an integer less than 500. When it Find the minimum value of 4 + B + Cif Cc X
Given 0 /0: = x, find x. in the same direction while B is in the 320 L |wow (2% 4+ 22 4 4 2009™) and is divided by 5, 9 and 7, the remainders 4 1 1 1 B
" ! opposite direction. If 4 passes C every It4= [ 1 4] A -1 3| (177 4 2% 4+ 2009*"). are 4, 7 and 5, respectively. For the S + B + T

12 minutes, B meets C every 2 minutes non largest ABC, find 4 + B + C. b v
and the distance that 4 running for )
12 minutes equals to B running for 15 What is n?
minutes. The ratio of the speeds between A
Band Cis x: 11. Find x. E
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HIE I — pentagons. Find ZAEZ.
Given V2 +V1)'+ VB3 +V2)"' + ...+ | Givenr’=1+3+5+...+ 39, find n. If area of the larger sector = 28, then If A, B, C, D, E represent different Given that X is a reduced fraction. Point P is moving from A4 to B with Find the last two digits of 5.
(400 + 399 )™ = n, find n. area of the shaded region = ? digits, find 4 + B+ C+ D + E. 7 1 speed 2 cm/s. Point Q is moving from C
X+Y=—and X-Y=—. to D with speed 3 cm/s. P and Q start
SAD 2 moving at the same time. Find the time
C55 Find the numerator of X. that PQ //AD.
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In hoopball, a field goal is worth 2 points If 3,a, b, c, 15 are in AP, How many non-negative integral BEBEE GhEE) Let p = 3x + 7y. Under the constraints
and a foul shot is worth 1 point. Suppose thena +b +c="? solutions for x + y + z = 6. THARR=ERE > BAR TSRS 0<x<4,0<y<3,x + y<6, what is the
a team scored 72 points and made 6 IRESEL R » BRI BEURRS AR greatest value of p?
more field goals than foul shots. How RSB ERAE  BREVHERE - y
many field goals did the team make? \
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